
SECONDARY SCHOOL EXAMINATION - 2021 (ANNUAL)

Advanced Mathematics (OPT)

Total No. of questions - 138

Instructions for the candidates :-

1. Candidates are required to give answers in own words as far as

practicable.

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa mÙkj nsaA

2. Figures in the right hand margin indicate full marks.

nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA

3. 15 Minutes of extra time has been allotted for the candidate to read

the question paper carefully.

bl iz'u i= dks /;kuiwoZd i<+us ds fy;s 15 feuV dk vfrfjDr le; fn;k x;k

gSA

4. This question paper is divided into two sections: Section-A and

Section-B.

;g iz'u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&cA

5. In Section A, there are 100 objective type questions out of which

any 50 questions are to be answered. First 50 answers will be evaluated

by the computer in case more than 50 question are answered. Each

Full Marks -100



question carries 1 mark. Darken the circle with blue/black ball pen

against the correct option on OMR Sheet provided to you. Donot

use Whitener /Liquid/Blade/Nail on OMR Sheet otherwise result will

be invalid.

[k.M&v esa 100 oLrqfu"B iz'u gSa] ftuesa ls fdUgha 50 iz'uksa dk mÙkj nsuk

vfuok;Z gSA 50 ls vf/kd iz'uksa ds mÙkj nsus ij izFke 50 mÙkjksa dk gh ewY;kadu

dEI;wVj }kjk fd;k tk;sxkA izR;sd ds fy, ,d vad fu/kkZfjr gSA buds mÙkj miyC/k

djk;s x;s vks ,e vkj&'khV esa fn;s x;s o`Ùk dks dkys@uhys ckWy isu ls HkjsaA fdlh

Hkh izdkj dk OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dks vks ,e vkj i=d esa

iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA

7. In section-B, there are 30 Short Answer Type questions, out of which

only 15 (fifteen) questions to be answered. Each carries 2 marks.

Apart from this there are 08 Long Answer Type questions, out of

which 4 questions are to be answered. Each question caries 5 marks.

[k.M&c esa 30 y?kq mÙkjh; iz'u gSa] ftuesa ls fdUgha 15 iz'uksa dk mÙkj nsuk vfuok;Z

gSA izR;sd ds fy;s nks vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 08 nh?kZ mÙkjh; iz'u

gSaA ftuesa ls fdUgha 4 iz'uksa dk mÙkj nsuk gSA izR;sd ds fy;s 5 vad fu/kkZfjr gSA

8. Use of any electronic device is strictly prohibited.

fdlh rjg ds bysDVªkWfud ;a= dk mi;ksx iw.kZr;k oftZr gSA

[k.M&v@Section-A



oLrqfu"B iz'u@Objective Type Questions

iz'u la[;k 1 ls 100 rd ds iz'u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d lgh

gSA fdUgha 50 iz'uksa ds mÙkj vius }kjk pqus x, lgh fodYi dks OMR 'khV ij fpfàr djsaA

50 x 1 = 50

Question Nos. 1 to 100 have four options, out of which only one is

correct. Answer any 50 questions. You have to mark your selected option

on the OMR-sheet. 50 x 1 = 50

1- dks.k 800 dk eku jsfM;u esa gS

(A) (B)

(C) (D)

The value of the angle 800 in radian is

(A) (B)

(C) (D)

2- jsfM;u fdrus ledks.k ds cjkcj gS \

(A) 1 (B) 2

(C) 3 (D) 4

radian is equal to how many right angles ?

(A) 1 (B) 2

(C) 3 (D) 4

3- sin2 + cos2 =

(A) 1 (B) -1

(C) 0 (D) 2

4- 4700 fdl ikn esa gS \
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(A) izFke (B) f}rh;

(C) rr̀h; (D) prqFkZ

In which quadrant does 4700 lie ?

(A) first (B) second

(C) third (D) fourth

5. jsfM;u dk eku fMxzh esa gS

(A) 400 (B) 200

(C) 600 (D) 800

The value of       radian in degrees is

(A) 400 (B) 200

(C) 600 (D) 800

6. fcUnq ¼6] 15½ dh Hkqt gS

(A) 15 (B) 6

(C) 21 (D) 9

The abscissa of the point (6, 15) is

(A) 15 (B) 6

(C) 21 (D) 9

7. cos(A + B) =

(A) cosA . cosB + sinA . sinB (B) cosA . cosB - sinA . sinB

(C) sinA . cosB (D) cosA + cosB

8. fdl ikn esa gksxk rkfd cosec /kukRed rFkk cot_.kkRed gks \

(A) izFke (B) f}rh;

(C) rr̀h; (D) prqFkZ


9


9



In which quadrant does lie such that cosec is positive and cot is negative?

(A) first (B) second

(C) third (D) fourth

9. ;fn sin =     ] rks tandk eku gS

(A) (B)

(C) (D)

If sin =       , then the value of tan is

(A) (B)

(C) (D)

10. ;fn A = 450 rFkk B = 600] rks  tan (A + B) ¾

(A) (B)

(C) 1 + 3 (D) 1 - 3

If A = 450 and B = 600, then tan (A + B)

(A) (B)

(C) 1 + 3 (D) 1 - 3

11. cos (      + x) =

(A) cosx (B) - sinx

(C) -cosx (D) sinx

12. tan3300 =

(A) 3 (B)

(C) -3 (D) -

13. sin450 . cos450 =

(A) (B)
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(C) 1 (D)

14. fcUnq ;qXe ¼6] 4½ vkSj ¼10] 8½ ds chp dh nwjh gksxh

(A) 4 (B) 42

(C) 8 (D) 82

Distance between the pair of points (6, 4) and (10, 8) will be

(A) 4 (B) 42

(C) 8 (D) 82

15. sec(-) =

(A) -sec (B) sec

(C) tan (D) - tan

16. tan(4950) =

(A) 1 (B) -1

(C) 2 (D) -2

17. cos750 dk eku gS

(A) (B) 2 - 3

(C) (D) 2 + 3

The value of cos750 is

(A) (B) 2 - 3

(C) (D) 2 + 3

18. cot (A - B) =

(A) (B)

(C) (D) cotA - cotB

19. sin750 - sin150dk eku gS

1
4

3 + 1
2

3 - 1
2

3 + 1
2

3 - 1
2

cotA . cotB + 1
cotB - cotA

cotA . cotB - 1
cotB - cotA

cotA . cotB + 1
cotB + cotA



(A) (B)

(C) -3 (D) 3

The value of Sin750 - Sin150 is

(A) (B)

(C) -3 (D) 3

20. 1 - 2sin2 =

(A) sin2 (B) cos

(C) cos2 (D) sin

21. ;fn sin¾     ] rks cos2dk eku gksxk

(A) (B) (C) (D)

If sin =       , then the value of cos2 will be

(A) (B) (C) (D)

22. y-v{k ls fcUnq ¼2] 8½ dh nwjh gS

(A) 2 (B) 8

(C) 10 (D) 6

The distance of the point (2, 8) from the y-axis is

(A) 2 (B) 8

(C) 10 (D) 6

23. sin630 . cos270 + cos630 . sin270 dk eku gS

(A) 1 (B) -1

(C) 0 (D) 2

The value of sin630 . cos270 + cos630 . sin270 is

(A) 1 (B) -1
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(C) 0 (D) 2

24. sin450 + cos450 cjkcj gS

(A) (B) 2

(C) (D) 1

sin450 + cos450 is equal to

(A) (B) 2

(C) (D) 1

25. cos2A =

(A) (B)

(C) (D)

26. ;fn cos = cos 450 rks dk ,d eku gksxk

(A) 300 (B) 450

(C) 600 (D) 900

If cos = cos450, then the one value of will be

(A) 300 (B) 450

(C) 600 (D) 900

27. cos2A =

(A)      (1 - cos2A) (B)     (1 + cos2A)

(C) sin2A (D)

28. sin (     + ) =

(A) cos (B) -cos

(C) sin (D) -sin

29. sin(-650) =

1
2

3
2

1
2

3
2

1 + tan2A
1 - tan2A

1 - tan2A
1 + tan2A

2tanA
1 + tan2A

2tanA
1 - tan2A

1
2

1
2

1
sin2A

7
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(A) sin650 (B) cos650

(C) cos250 (D) -sin650

30. tan750 dk eku gS

(A) 2 + 3 (B) 2 - 3

(C) 2 (D) 3

The value of tan750 is

(A) 2 + 3 (B) 2 - 3

(C) 2 (D) 3

31. sin(A + B) . sin(A - B) =

(A) sin2A - sin2B (B) sin2A + sin2B

(C) (D)

32. 1 - 2sin2450 ¾

(A) 1 (B) 0

(C) (D)

33. sinA =

(A) 2cos (B) 2sin

(C) 2sin      . cos (D) cos

34. ;fn A + B + C = ] rks cos(B + C) dk eku gS

(A) cosA (B) sinA

(C) -cosA (D) -sinA

If A + B + C = , then the value of cos(B + C) is

(A) cosA (B) sinA

(C) -cosA (D) -sinA

sin2A
sin2B

sin2B
sin2A
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A
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35. ;fn tan5 = tan1800] rks dk ,d eku gksxk

(A) 200 (B) 900

(C) 450 (D) 360

If tan5 = tan1800, then the one value of will be

(A) 200 (B) 900

(C) 450 (D) 360

36. fdlh f=Hkqt ABC esa] cos      ¾

(A)  (B) 
(C)  (D) 
In any ABC, cos      =

(A)  (B) 
(C)  (D) 

37. fuEufyf[kr esa ls dkSu lk fcUnq prqFkZ ikn esa gS \

(A) (3, 7) (B) (6, -7)

(C) (-6, 8) (D) (-9, -7)

Which of the following points lies in fourth quadrant ?

(A) (3, 7) (B) (6, -7)

(C) (-6, 8) (D) (-9, -7)

38. fcUnq ¼0] 0½ vkSj ¼4] 8½ dks feykus okyh js[kk[k.M ds e/; fcUnq ds fu;ked gSa

(A) (-2, 4) (B) (-4, 8)

(C) (2, 4) (D) (-4, -4)

S(S - c)
ab

S(S - a)
ab

S - a
ab

S(S - a)
bc

C
2

C
2

S(S - c)
ab

S(S - a)
ab

S - a
ab

S(S - a)
bc



The co-ordinates of mid-point of the line segment joining the points

(0, 0) and (4, 8) are

(A) (-2, 4) (B) (-4, 8)

(C) (2, 4) (D) (-4, -4)

39. ;fn = 900] rks sin      - cos       =

(A) 1 (B) -1

(C) 0 (D)

If = 900, then sin      - cos       =

(A) 1 (B) -1

(C) 0 (D)

40. cos . tan cjkcj gS

(A) sin (B) cos

(C) tan (D) cot

cos . tan is equal to

(A) sin (B) cos

(C) tan (D) cot

41.             =

(A) 1 (B) 0

(C) 2 (D) -1

42. ;fn 2sin = 3] rks dk eku gksxk

(A) 300 (B) 450

(C) 600 (D) 900

If 2sin = 3, then the value of will be

1
2

1
2


2


2


2


2

cos750

sin150



(A) 300 (B) 450

(C) 600 (D) 900

43. sin400 . cos 500 + cos400 . sin500 dk eku gS

(A) 2 (B) 1

(C) -1 (D) 0

The value of sin400 . cos 500 + cos400 . sin500 is

(A) 2 (B) 1

(C) -1 (D) 0

44. 1 + cot2 =

(A) sec2 (B) tan2

(C) cosec2 (D) sin2

45. ;fn ,d òÙk ds O;kl ds Nksjksa ds funsZ'kkad ¼4] 6½ vkSj ¼8] 10½ gksa] rks o`Ùk dk dsUnz

gksxk

(A) (6, 10) (B) (6, 4)

(C) (6, 8) (D) (8, 4)

If the co-ordinates of the end points of the diameter of a circle are

(4, 6) and (8, 10), then the centre of the circle will be

(A) (6, 10) (B) (6, 4)

(C) (6, 8) (D) (8, 4)

46. ;fn cos =      ¼tgk¡ 00  3600½] rks dk eku gksxk

(A) 450, 1350 (B) 300, 3150

(C) 450, 3150 (D) 450, 2250

If cos =       (where 00  3600), then the value of will be

1
2

1
2



(A) 450, 1350 (B) 300, 3150

(C) 450, 3150 (D) 450, 2250

47. sec2 - tan2 =

(A) -1 (B) 1

(C) 0 (D) 2

48. ds fdlh eku ds fy, fuEufyf[kr esa dkSu laHko gS \

(A) sin = (B) sec =

(C) tan = (D) cos =

Which of the following is possible for any value of ?

(A) sin = (B) sec =

(C) tan = (D) cos =

49. cos (3600 + ) =

(A) sin (B) cos

(C) tan (D) sec

50. fdlh ABC esa cosB dk eku gksrk gS

(A) (B)

(C) (D) sinB

In any ABC the value of cosB is

(A) (B)

(C) (D) sinB

51. ;fn ABC esa a = 6 lseh] c = 4 lseh rFkk B = 300] rks ABC dk {ks=Qy

gksxk

(A) 4 ¼lseh½2 (B) 2 ¼lseh½2

1
3

3
2

3
2

5
2

1
3

3
2

3
2

5
2

b2 + c2  - a2

2bc
c2 + a2  -b2

2ca

a2 + b2  - c2

2ab

b2 + c2  - a2

2bc
c2 + a2  -b2

2ca

a2 + b2  - c2

2ab



(C) 6 ¼lseh½2 (D) 8 ¼lseh½2

In ABC if a = 6cm, c = 4 cm and B = 300, then the area of ABC

will be

(A) 4 cm2 (B) 2 cm2

(C) 6 cm2 (D) 8 cm2

52. ;fn 2cos = 3] rks gksxk

(A) 300 (B) 450

(C) 900 (D) 600

If 2cos = 3, then will be

(A) 300 (B) 450

(C) 900 (D) 600

53. 2sin6A cos6A =

(A) sin6A (B) sin10A

(C) sin12A (D) sin14A

54.     =

(A) 0 (B) 2

(C) 1 (D) -1

55. 2sin300 . cos300 =

(A) sin 300 (B) sin450

(C) sin600 (D) sin300

56. fcUnqvksa ¼2] 4½ vkSj ¼&6] &4½ ds chp dh nwjh gS

(A) 8 (B) 82

(C) 16 (D) 162

cos400 + cos 200

3 cos100



Distance between the points (2, 4) and (-6, -4) is

(A) 8 (B) 82

(C) 16 (D) 162

57. ;fn cosA =     vkSj cosB =     ] rks  tan(A + B) dk eku gksxk

(A) (B)

(C) (D) buesa ls dksbZ ugha

If cosA =         and cosB =        , then the value of tan(A + B) will be

(A) (B)

(C) (D) none of these

58. sin . cot =

(A) cos (B) tan

(C) sin (D) cot

59. 1 + cosA =

(A) 2sin2 (B) 2cos2

(C) sin2 (D) cos2

60. cos(A + B) . Cos(A - B) dk eku gS

(A) sin2A - sin2B (B) sin2B - sin2A

(C) cos2A - sin2B (D) 2cos2B - sin2A

The value of cos(A + B) . Cos(A - B) is

(A) sin2A - sin2B (B) sin2B - sin2A

(C) cos2A - sin2B (D) 2cos2B - sin2A

61. cos(2700 - ) =

(A) sin (B) cos

3
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(C) -sin (D) -cos

62. cot2A =

(A) (B)

(C) (D)

63. ;fn A = B = 150] rks cot (A + B) dk eku gS

(A) 3 (B) 2

(C) -2 (D) -3

If A = B = 150, then the value of cot (A + B) is

(A) 3 (B) 2

(C) -2 (D) -3

64. ;fn A = 300] rks cot2A dk eku gS

(A) 3 (B)

(C) 1 (D) buesa ls dksbZ ugha

If A = 300, then the value of cot2A is

(A) 3 (B)

(C) 1 (D) none of these

65. sec1200 =

(A) 2 (B) -2

(C) 2 (D) 3

66. sin . cosec =

(A) -1 (B) 1

(C) 0 (D) 2

67.  =

cot2A - 1
2cotA

cot2A + 1
cotA

2cotA
cot2A - 1

cot2A
1 + cot2A

1
3

1
cot

1
3



(A) sec (B) tan

(C) cot (D) sin

68. ;fn sin =   ] rks cosdk eku gS

(A) (B)

(C) (D)

If sin =    , then the value of cos is

(A) (B)

(C) (D)

69. sin =

(A)  (B) 
(C) 1 - cos2 (D) 1 + cos2

70. =

(A) cosA (B) sinA

(C) tanA (D) cotA

71. ;fn cosec = sec] rks dk eku gS

(A) 1800 -  (B) 900 + 

(C) 1800 +  (D) buesa ls dksbZ ugha

If cosec = sec, then the value of is

(A) 1800 -  (B) 900 + 

(C) 1800 +  (D) none of these

72. ;fn fdlh ABC esa a, b vkSj C fn;s gq, gSa] rks ABC dk {ks=Qy gS

(A) absinC (B)      absinC

(C) 2absinC (D)     absinC
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If in a ABC a, b and C are given, then the area of ABC is

(A) absinC (B)      absinC

(C) 2absinC (D)     absinC

73. 2cos750 . cos150 cjkcj gS

(A) (B) -

(C) (D) -

2cos750 . cos150 is equal to

(A) (B) -

(C) (D) -

74. ;fn cot = z] rks cos2cjkcj gS

(A) (B)

(C) (D) buesa dksbZ ugha

If cot = z, then cos2 is equal to

(A) (B)

(C) (D) none of these

75. fcUnq ¼4] 5½ dh ewy fcUnq ls nwjh gS

(A) 41 (B) 41

(C) 40 (D) 40

The distance of the point (4, 5) from the origin is

(A) 41 (B) 41

(C) 40 (D) 40

76. fdlh prqHkqZt ABCD ds 'kh"kZ A(0, 0), B(3, 4), C(7, 7) rFkk D(4, 3), gSa rks

prqHkqZt ABCD gS

1
2

1
4

1
2

1
2

3
2

3
2

1
2

1
2

3
2

3
2

z2 + 1
2z

z2 - 1
2z

2z
z2 - 1

z2 + 1
2z

z2 - 1
2z

2z
z2 - 1



(A) leprqHkqZt (B) vk;r

(C) oxZ (D) buesa ls dksbZ ugha

Vertices of a quadrilateral ABCD are A(0, 0), B(3, 4), C(7, 7) and

D(4, 3), then quadrilateral ABCD is

(A) Rhombus (B) Rectangle

(C) Square (D) None of these

77. fdlh prqHkqZt PQRS ds 'kh"kZ (5, 3) (0, 3) (0, 0) rFkk (5, 0) gS bldk {ks=Qy

gS

(A) 7.5 (B) 6

(C) 15 (D) 10

The vertices of a quadrilateral PQRS are (5, 3) (0, 3) (0, 0) and (5, 0)

its area is

(A) 7.5 (B) 6

(C) 15 (D) 10

78. ;fn sinA =   ] rks sin3A dk eku gS

(A) (B)

(C) (D)

If sinA =       then the value of sin3A is

(A) (B)

(C) (D)

79. 1 - 2sin2A =

(A) cos2A (B) sin2A

(C) -cos2A (D) -sin2A

-23
27

23
27

27
23

-27
23

1
3

1
3

-23
27

23
27

27
23

-27
23



80. ;fn tan   ¾    ] rks tanA dk eku gS

(A) (B)

(C) (D)

If tan     =     , then the value of tanA is

(A) (B)

(C) (D)

81. sin300 . cos150 + cos300 . sin 150 cjkcj gS

(A) (B)

(C) (D) buesa ls dksbZ ugha

sin300 . cos150 + cos300 . sin 150 is eual to

(A) (B)

(C) (D) None of these

82.     cjkcj gS

(A) 0 (B) -1

(C) 1 (D) 3

    is equal to

(A) 0 (B) -1

(C) 1 (D) 3

83. tan    =

(A) 2 - 3 (B) 2 + 3

(C) (D)

84. fdlh esa ABC] =

(A) (B)

3
4

4
3

-3
4

-4
3

1
4

A
4

3
4

4
3

-3
4

-4
3

1
4

A
4

1
2

1
2

3
2

1
2

1
2

3
2

2tan 22    0

1-tan222    01
2

1
2

2tan 22    0

1-tan222    01
2

1
2

13
12

2
2 - 3

2
2 + 3

c - bcosA
a - bcosc

a
c

c
a



(C) c + a (D) c - a

In any ABC, =

(A) (B)

(C) c + a (D) c -a

85. cos180 =

(A) (B)

(C) 10 + 25 (D) 10 - 25

86. K dk eku D;k gS ftlds fy, fcUnq ¼2] &3½ oØ Kx2 - 3y2 + 2x + y - 6 = 0 ij

gS \

(A) 16 (B) 12

(C) -8 (D) 8

What is the value of K for which point (2, -3) lies on the curve

Kx2 - 3y2 + 2x + y - 6 = 0 is ?

(A) 16 (B) 12

(C) -8 (D) 8

87. ;fn sin700 + sin500 = 3cosrks dk eku gS

(A) 600 (B) 500

(C) 100 (D) 700

If sin700 + sin500 = 3cos, then the value of is

(A) 600 (B) 500

(C) 100 (D) 700

88. ;fn cos - 3sinrks dk eku gksxk

(A) 300 (B) 450

c - bcosA
a - bcosc

a
c

c
a

10 - 25
4

10 + 25
4



(C) 00 (D) 600

If cos - 3sin, then the value of will be

(A) 300 (B) 450

(C) 00 (D) 600

89.  ABC esa  tan          x tan      =

(A) (B)

(C) (D)

In ABC, tan          x tan      =

(A) (B)

(C) (D)

90. ABC esa b2 + 2cacosB =

(A) c2 - a2 (B) c2 + a2

(C) c2 (D) a2

In ABC, b2 + 2cacosB =

(A) c2 - a2 (B) c2 + a2

(C) c2 (D) a2

91. Cot . sin2 =

(A) 1 - cos2 (B) 1 + cos2

(C) cos2 (D) 1

92. dk og eku tks lehdj.k sec3 = cosec2dks larq"V djrk gS] cjkcj gS %

(A) 180 (B) 90

(C) 200 (D) 270

The value of  satisfying the equation sec3 = cosec2 is equal to

B-C
2

A
2

b2 + c2

b2 - c2

b - c
b + c

b2 - c2

b2 + c2

b + c
b - c

B-C
2

A
2

b2 + c2

b2 - c2

b - c
b + c

b2 - c2

b2 + c2

b + c
b - c



(A) 180 (B) 90

(C) 200 (D) 270

93. ;fn cos =      ] rks dk eku gS tgk¡ 0 <  1800

(A) 450 (B) 600

(C) 1350 (D) 1500

If cos =      , then the value of  is (where 0 <  1800)

(A) 450 (B) 600

(C) 1350 (D) 1500

94. 3sin     - 4sin3     cjkcj gS

(A) (B)

(C) (D)

3sin     - 4sin3      is equal to

(A) (B)

(C) (D)

95. cos2      - sin2       =

(A) 1 (B) 2

(C) 0 (D) 3

96. fcUnq ¼0] 8½ fLFkr gS

(A) izFke ikn esa (B) f}rh; ikn esa

(C) x&v{k ij (D) y&v{k ij

The point (0, 8) lies in

(A) First quadrant (B) Second quadrant

(C) on x-axis (D) on y-axis

-1
2

-1
2


12


12

1
2

3
2

1
2

-1
2


12


12

1
2

3
2

1
2

-1
2


4


4



97. ;fn cosecA = 2 tgk¡ dks.k A, 0 rFkk ds chp esa gks] rks A dk eku gksxk

(A) 300, 1350 (B) 300, 1500

(C) 1500, 1800 (D) 600, 1350

If cosecA = 2 where angle A lies between 0 and , then the value of

A will be

(A) 300, 1350 (B) 300, 1500

(C) 1500, 1800 (D) 600, 1350

98. ;fn sin + cosec = 3 rks sin2 + cosec2 =

(A) 2 (B) 5

(C) 7 (D) 9

If sin + cosec = 3 then sin2 + cosec2 =

(A) 2 (B) 5

(C) 7 (D) 9

99. ;fn cot = sin2 , 0 <  1800 rks =

(A) 450, 1200 (B) 450, 1350

(C) 300, 1500 (D) buesa ls dksbZ ugha

If cot = sin2 , 0 <  1800, then =

(A) 450, 1200 (B) 450, 1350

(C) 300, 1500 (D) None of these

100. ,d o`Ùk dh f=T;k 10 lseh0] rks ml o`r ds dsUnz ij 15 lseh0 yEckbZ ds pki ls cus

dks.k dk eku gS

(A) 10c (B) 1.5c

(C) c (D) 2c



The radius of a circle is 10 cm, then the angle subtended at the

centre of the circle by an arc of length 15cm is

(A) 10c (B) 1.5c

(C) c (D) 2c

[k.M & c@Section - B

y?kq mÙkjh; iz'u@Short Answer Type Questions

iz'u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz'uksa ds mÙkj nsaA izr;sd

iz'u ds fy, 2 vad fu/kkZfjr gSaA 15 x 2 ¾ 30

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 ques-

tions. Each question carries 2 marks. 15 x 2 = 30

1- ,d ?kM+h esa feuV dh lqbZ 1-5 lseh yach gSA bldh uksd 40 feuVks esa fdruh nwj tk

ldrh gS \

The minute hand of a watch is 1.5 cm long. How far does its tip

move in 40 minutes ?

2-    jsfM;u dks fMxzh esa cnysaA

Convert       radian into degrees .

3- 2cos2450 + sin300 +     cos00 - tan 450 dk eku Kkr djsaA

Find the value of 2cos2450 + sin300 +     cos00 - tan 450.

4- ;fn A + B + C = ] rks fl) djsa fd

cotA + cot (B +C) = 0


4


4

1
2

1
2



If A + B + C = , then prove that

cotA + cot (B +C) = 0

5- fl) djsa fd cos (450 + A) + sin (A - 450) = 0

Prove that cos (450 + A) + sin (A - 450) = 0

6- ;fn A + B + C = ] rks fl) djsa fd

tanA + tanB + tanC = tanA . tanB .tanC

If A + B + C = , then prove that tanA + tanB + tanC = tanA . tanB .tanC

7- ;fn sinA =     vkSj sinB =     ] rks  tan(A - B) dk eku Kkr djsaA

If sinA =      and sinB =      , then find the value of tan(A - B).

8- ;fn tan =     ] rks tan2dk eku Kkr djsaA

If tan =    , then find the value of tan2.

9- fl) djsa fd   ¾ tan

Prove that

       = tan

10- ;fn cosA =    ] rks cos3A dk eku Kkr djsaA

If cosA =    , then find the value of cos3A.

11- tan150 dk eku Kkr djsaA

Find the value of tan150.

12- fcUnqvks ¼13] &2½ vkSj ¼&1] 6½ dks feykusokys js[kk[k.M ds e/; fcUnq ds fu;ked

Kkr djsaA

4
5

3
5

4
5

3
5

3
4

3
4

1 - cos2
sin2

1 - cos2
sin2

1
3

1
3



Find the co-ordinates of the mid-point of the line segment joining

the points (13, -2) and (-1, 6).

13- fl) djsa fd

= tan2

Prove that

= tan2

14- ewy fcUnq ls fcUnq ¼6] 6½ dh nwjh Kkr djsaA

Find the distance of the point (6, 6) from the origin.

15- fl) djsa fd

+ = 2secA

Pove that

+ = 2secA

16- fl) djsa fd

sin750 + sin150 =

Prove that

sin750 + sin150 =

17- ;fn ¾ 450] rks sin + cos + tandk eku Kkr djsaA

If =450, then find the value of sin + cos + tan.

18- ;fn fdlh f=Hkqt ds nks dks.k     rFkk 800 gS] rks rhljk dks.k fMxzh esa Kkr djsaA

If the two angles of a triangle are     and 800, then find the third angle

A
2

1 - cosA
1 + cosA

A
2

1 - cosA
1 + cosA

cosA
1 - sinA

cosA
1 + sinA

cosA
1 - sinA

cosA
1 + sinA

6
2

6
2


6


6



in degrees.

19- ;fn x vkSj y U;w.kdks.k gks rFkk sinx =     ] cosy =    ] rks sin (x + y) dk

eku Kkr djsaA

If x and y are acute angles and sinx =      , cosy =      , then find the

value of sin (x + y).

20- fl) djsa fd

= cotx

Prove that

= cotx

21- ml ljy js[kk dk lehdj.k Kkr djsa tks x-v{k ls 450 dk dks.k cukrh gS rFkk

y&v{k dks ewy fcUnq ls 5 dh nwjh ij dkVrh gS

Find the equation of the straight line which makes an angle of 450

with the x-axis and cuts the y-axis at a distance of 5 from the origin.

22- fl) djsa fd

cos3 + sin = 2cos(450 + ) cos(450 - 2)

Prove that

cos3 + sin = 2cos(450 + ) cos(450 - 2)

23- fl) djsa fd

3sin     . cosec      - 4sin     . cot     = 1

Prove that

3
5

12
13

12
13

3
5

cos7x + cos5x
sin7x - sin5x

cos7x + cos5x
sin7x - sin5x


6


6


6


4



3sin     . cosec      - 4sin     . cot     = 1

24- fl) djsa fd fcUnq ¼1] &1½] ¼2] 1½ vkSj ¼4] 5½ lajs[kh gSA

Prove that the points (1, -1), (2, 1) and (4, 5) are collinear.

25-  ABC dk {ks=Qy Kkr dhft, ftlds 'kh"kZ A(0, 0), B(2, 0) vkSj C(0, 3) gSaA

Find the area of ABC whose vertices are A(0, 0), B(2, 0) and C(0, 3).

26- fl) djsa fd

cos1050 =

Prove that

 cos1050 =

27- ;fn fdlh f=Hkqt ds nks dks.k 450 vkSj 600 gks] rks f=Hkqt dh Hkqtkvksa dk vuqikr

Kkr djsaA

If the two angles of a triangle are 450 and 600, then find the ratio of

the sides of the triangle.

28- ;fn sinA  ¾     vkSj sinB ¾    ] rks sin(A + B) dk eku Kkr djsa ¼tgk¡ A

vkSj B U;w.kdks.k gSaA½

If sinA =      and sinB =       , then find the value of sin(A + B) (where

A and B are acute angles)

29- fl) djsa fd %& sin400 + sin200 = cos100

Prove that :- sin400 + sin200 = cos100.

30- fl) djsa fd


6


6


6


4

1 - 3
2

1 - 3
2

12
13

15
17

12
13

15
17



sin(450 - A) =     (cosA - sinA)

Prove that

sin(450 - A) =     (cosA - sinA)

nh?kZ mÙkjh; iz'u@Long Answer Type Questions

iz'u la[;k 31 ls 38 rd nh?kZ mÙkjh; gSaA buesa ls fdUgha 4 iz'uksa ds mÙkj nsaA izR;sd

iz'u ds fy, 5 vad fu/kkZfjr gSaA 4 x 5 ¾ 20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 ques-

tions. Each question carries 5 marks. 4 x 5 = 20

31- /kjrh ij ,d ehukj Å/okZ/kj [kM+h gSA /kjrh ds ,d fcUnq ls] tks ehukj ds ikn fcUnq

ls 15 eh0 nwj gS] ehukj ds f'k[kj dk mUu;u dks.k 600 gSA ehukj dh Å¡pkbZ Kkr

djsaA

A tower stands vertically on the ground. From a point on the ground

which is 15m away from the foot of the tower, the angles of elevation of

the top of the tower is 600. Find the height of the tower.

32- fl) djsa fd %& cos4 . cos2 - cos6 . cos12 = sin10 . sin 8

Prove that :-  cos4 . cos2 - cos6 . cos12 = sin10 . sin 8

33- ;fn tan¾        vkSj tan¾       ] rks fl) djsa fd ¾    -

If tan =            and tan =           , then prove that  =    .

34- ml ljy js[kk dk lehdj.k Kkr djsa tks ljy js[kk x + 2y = 3 ds lekukUrj gS

rFkk fcUnq ¼3] 4½ ls gksdj tkrh gSA

1
2

1
2

m
m + 1

1
2m + 1

m
m + 1

1
2m + 1


4


4



Find the equation of the straight line which is parallel to the line

x + 2y = 3 and passes through the point (3, 4)

35- ;fn cosecA + secA = cosecB + secB] rks fl) djsa fd

tanA . tanB = cot

If cosecA + secA = cosecB + secB, then prove that

tanA . tanB = cot

36- fl) djsa fd %& 1 + tanA . tan    = secA

Prove that :- 1 + tanA . tan    = secA

37- fdlh ABC esa] fl) djsa fd

+    + =

In any ABC, prove that

+    + =

38- ABC dk {ks=Qy Kkr djsa ;fn mlds 'kh"kZ A(2, 1), B(-3, 7) vkSj C(-4, 5) gSA

Find the area of the ABC if its vertices are A(2, 1), B(-3, 7) and

C(-4, 5).

A + B
2

A + B
2

A
2

A
2

cosA
a

cosB
b

cosC
c

a2 + b2 + c2

2abc

cosA
a

cosB
b

cosC
c

a2 + b2 + c2

2abc


